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Introduction

In the previous meeting test configurations for MSR-NC has been discussed [1]. In general for testing MSR-NC it is necessary to use a test configuration where there is a sub-block gap in order to test the requirements that apply in the gap. In this contribution we suggest one approach for dividing the available RF bandwidth into sub-blocks and a sub-block gap.

Discussion 
We would like to reuse the TCs in the sub-blocks. i.e. for a test where TC2 is used, each sub-block can be populated with carriers using the method for generating TC2. By using this approach we believe the work of creating test configurations for MSR-NC can be done quicker. Since the TCs for contigouos operations were intended for larger blocks than the expected size of the sub-blocks some care must be taken when dividing the spectrum into sub.blocks.

UTRA and/or LTE carriers only

For the TCs that contain only UTRA or LTE carriers it is beneficial if the size of the sub-block is a multiple of 5 MHz. The reason is that for small sub-blocks (<10MHz) only one carrier will fit in the block. In order to make sure that there are carriers at the edges of the sub-block the size must be a multiple of 5 MHz. In addition it is beneficial if there is more than one carrier in sub-block, for example it is difficult to create a mix of UTRA and LTE with only one carrier.

We propose to divide the maximum RF bandwidth into three parts and rounding to an even 5MHz boundary for the sub-blocks. The gap should be the remaning spectrum. For the gap it does not matter that the size is not necessarily an even multiple of 5 MHz.
The tricky case is if the declared RF bandwith is 20 MHz. If we round up we get two 10MHz sub-blocks, which means that there is no gap at all. If we round down instead we get two 5 MHz blocks which means that there is only room for one carrier each block. To balance these two aspects we suggest that the size of one block is rounded up and the other down.
Test configurations with GSM
For test configurations with GSM it is easier to fit carriers at the edges of the sub-block. Actually the minimum sub-block size that can fit one GSM and one UTRA/LTE carrier is 5.6 MHz, and three carriers can fit in 6.2 MHz, thus rounding to the closest MHz should be sufficient. We suggest using the same principle, i.e rounding one block up and one block down, but to round to the closest MHz instead.
Proposal

The proposals in this contribution are captured in the attached TP. It is proposed that it is implemented in TR 37.802 [2].
References

[1] R4-111172 “TP on test configurations for non-contiguous operation”, Ericsson

[2] R4-111609 “MSR_NC- Core
MSR-NC Work Item TR 37.802 v0.3.0” Ericsson
<NEW TEXT for TR 37.802>

8.
Conformance test aspects

8.X
Test configuration for non-contiguous tests

The test configuration should use two sub-blocks and one sub block gap. 

For test cases using only UTRA and/or LTE the bandwidth of one of  the sub-blocks should be the maximum RF bandwidth divided by three and rounded down to the closest 5 MHz. The bandwidth of the other sub-block should be the maximum RF bandwidth divided by three and rounded up to the closest 5 MHz.

For test cases using a mix of GSM and LTE/UTRA the bandwidth of one sub-block should be the maximum RF bandwidth divided by three and rounded down to the closest MHz. The bandwidth of the other sub-block should be the maximum RF bandwidth divided by three and rounded up to the closest MHz.

The bandwidth of the sub-block gap should be the maximum RF bandwidth minus the sum of the bandwidths of the two sub-blocks.
